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:1پاسخ سؤال 

Â نمره( 5/0)      1
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:2پاسخ سؤال 
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:3 پاسخ سؤال

  نمره( 1)
ˆˆ CBN̂ ( )       180 180 50 130

2 2
B̂ˆنمره(  5/0)  C   180 80 100

:4 پاسخ سؤال
ˆ ˆCD DE C E   1 1 80

E    1 180 100 80

A B C B B           180 180 30 80 180 ˆ متقابل به رأس 70 ˆC C1 2

:5 پاسخ سؤال
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:6 سؤالپاسخ 
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 :7 پاسخ سؤال

/نمره(  5/0) /RT   4 7 5 11 PT/نمره(  5/0) 5 cm,MR   8 154 7 5
2 2

PNنمره(  5/0)  cm,MP cm 8 15M P NTR

:8 پاسخ سؤال

n(n  نمره( 1) )  
3 10 7 35

2 2
n) نمره( 1) )   ) ( )

n

      
2 180 10 2 180 8 180 144

10 10
     (

:9 پاسخ سؤال
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:11 پاسخ سؤال

ˆB̂ C  ساقین  متساوی  A BC
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:11 پاسخ سؤال
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